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Instructions :
(i) All questions are compulsory.

(i) Question No. 1 to 5 are objective type questions. Choose the correct options
06 marks, fill in the blanks 06 marks, true false 06 marks, match the column
06 marks, answer in one sentence 06 marks.

(iii) Internal option are given in question No. 6 to 23 ..

(iv) Questions No. 6 to 17 are very short answer type questions. Each question
carries 02 marks. Word limit is 30 words.

(v) Questions No. 18 to 20 are short answer type questions. Each question
carries 03 marks. Word limit is 75 words.

(vi) Questions No. 21 and 23 are long answer type questions. Question carries 04
marks. Word limit is 120 words.

(vii) Question No. 23 is questions based on the map of the India. Question
carries 04 marks.

(viii) Question No. 20 show in the India map and attach it to the answer sheet.
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Choose the correct option and write -
(i) Which of the following crops has been called yellow gold-
(a) Wheat (b) Mustard
(c) gram (d) maize

(ii) The port situated on the eastern coast which is inland and has maximum depth decline -

(a) Chennai (b) Tuticorin

(c) Paradweep (d) Visakhapatnam
(iii) Who composed the book called Encyclopedia-

(a) Diderot (b) Necker

(c) Rousseau (d) Voltaire

(iv) Which of the following countries was considered the Axis Power during the Second World

War-
(a) Nazi, Germany, Japan and Italy (b) Britain, Germany, Russia
(c) France, Germany and Italy (d) Britain, France, Russia and America

(v) Education is the subject of which list-
(a) State list (b) Union list
(c) Concurrent list (d) None of these

(vi) By what other name is average income known-

(a) Human development (b) Marginal cost
(c) Marginal income (d) Per capita income
2. s st & gfd fifcg - (1x6=6)
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Fill in the blanks —

(i) Those resources which are made of non-living things are called .................... resources.

(ii) Munda and Santhal tribes in Chhota Nagpur region worship ............................. tree.

(i) India's chemical industry ranks ...........cceeeviieiiiiiiiiiiiniiinieeeeee, in the Asian continent.

(iv) Belgium is a small country in the ...........cccccuvvviiiiiiiiiieeeieeieeeee. continent.

(V) e organization issues human development report.

(VI)ONIY v days of employment is guaranteed in MNREGA.
3. 9/ Iay e - (1x6=6)

(i) e & ST gaT JeTEe 9aT Fedrdl g

(i) 9Tea =4 F 9T FATaA T FaH 2T IATEF <97 g
(iii) 1953 ® AT TREET FT TEIAFI FH7AT 77 21T
(iv) FERTE FrgelTHed Ta9T Bl

(V) GAT TSR &1 =gd T IS ot F2d 2 |

(Vi) AL H FIHT A1 AIRATT T S AT FLAT 2 |

Write True/False -

(i) The soil formed by leaching is called laterite soil.

(ii) India is the largest producer of rice after China.

(iii) Air transport was nationalized in 1953.

(iv) Chandigarh is a union territory.

(v) Open unemployment is also called hidden unemployment.
(vi) Currency notes in India are issued by State Bank of India.

4 .95 NSt a1 - (1x6 =6)
N ‘B
() YO FT g9 TST IATEF 54 (F) et e
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(V) 3T 3T ITANT F7T 3(a (T) FT
(vi) FEHTT GIT ATdaeli il gemT ®EEE
Make correct pairs -
\AI IBI
(i) Largest producer of rubber state (a) Attainment of independence
(ii) Rays of the rising sun (b) Democratic
(iii) Abanindranath Tagore (c) Liberalization
(iv) Better form of government (d) Bharat Mata
(v) Income and consumption gap (e) Kerala
(

vi) Removal of restrictions by the government (f) Savings



5. TF 91T # I fafag — (1x6=6)

(iy fegdt & forEml g ®i9- AT ST JTIT 73T o7 2
(i) BT @1 &7 [AHTOT oy 2T o7 ?

(ifi) AT T HIT-AT AC TAFLIIAER JERT hl TTLTAT 22
(iv) T AW % 99 § fRora 39T 7 47 g o ?

(v) 2 st i Fa Ay 6 T ?

(vi) TG FAEAT T T U fRerer F T FEd g ?

Write the answer in one sentence —

(i) Which movement was launched by farmers in Tehri?

(i) Who built Hauz Khas?

(iii) Which city of India is the capital of electronic industry?

(iv) What were the countries located to the east of the Mediterranean Sea called?
(v) When was the new economic policy implemented?

(vi) What is the investment made by multinational companies called?

6 TSIET 21 FT E ? 38+ qed 3297 o | 02

What is Agenda 21 ? Write its main objectives.
37741 / OR
HATEAT o AT TE & FOF g2 FIs a1 gHems fofe |

Write any two problems arising from over exploitation of resources.

7 OTReAtaE 9 e FEd 8 ? 02
What is called ecosystem ?
IJ4T /OR
T ST HLAT ATATHAH H FeheWed SAIT I T 2 Al &l HIGAT (1T |

Write any two rules to save endangered species in the Wildlife Protection Act.

8 wATUTH AT "l TSTHRT T &7 fereraar forfe | 02

Write two features of the Golden Quadrilateral Highway.
JT4T /OR
39T T TgeAT TANTET Fd 3T Fgl T FATS TS ?

When and to where was the country's first train run?

9 g | * STTT IT IR o T [ e | 02

Write the types of industries on the basis of raw materials.
JT4T /OR

AT ST foh Fgd g ?

What is information technology?

10 FFITIOT FATRIE Fd AT T4 FATIT AT ? 02

When and why was Champaran Satyagraha launched?
4T /OR

AT HIATETH T &l o ?

Who was Alluri Sitaram Raju?



11 TT H T AR F ST T2 AT FT FIT TATT T2T 2

What impact did the potato have on the lives of everyone in Europe?

4T /OR

FIT-HT TS LT T ST AT T2 307 AU g1 A 7 7 (F2va v sy oft ?

Which crop was grown in India ? And why was it exported to China by the British?

12 JAT FATE ?
What is Belm?
IFI4T /OR
G AT o g 57

What is astronomy ?

13 et 1 e e areere A A0S 2 Rl frf

Write any two features of Gutenberg's printed book Bible.
3{Ydl /OR
g ferfoaT T off ?

What were the manuscripts?

14 ATATE v T 2
What is the feminist movement?
3{Ydl /OR
HIZATSA T TSI § TTafTered & T aread g2

What is meant by representation of women in politics?

15 STATEcg! 94T F#T 8 2
What is accountable government?
3{Ydl /OR
I ALY o8 Fgd g ?

What is called a legitimate government?

16 FIST &3 % HIS & A1 ferte |

Write any two advantages of organized sector.
31YdTl /OR

FIAT o AT I AT AT T 9t & fErarfora T ST g 2

Into how many parts is the economy divided on the basis of functions?

17 T&T FT T FHATC |
Explain the meaning of currency.
31YdT /OR
Feq e g FT s 2 2

What is meant by barter?

18 FHISAT THAT AIWITE Al s A1 (FATATY, o |
Write any three features of Kandla sea port.
31Ydl /OR
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TATATT 3f¥ T o AT <97 o AR e § foF Tohe agmaF 21 & ?

How do means of transport and communication help in the industrial development of the
country?

19 Tores it AigAT FEITRT 7 RATRT ST 9 gAer #4171 o6 ?
Why did British women workers attack Spinning Jenny ?
3{YdT /OR
T SRIRITRr &7 serd forfe |

Write the meaning of pre-industrialization.

20 e o e Y fFerward forfero |

Write the characteristics of federal government system.
3{Ydl /OR
gt Ao #47 § 2 g9 orfe |

What is horizontal distribution? Explain and write.

21 ATSHA FHIT T TS FAT (AT 3T 2 ATt o ot 3y =41 fFrar 2

Why was Simon Commission formed? Why did Indians oppose it?
JI4T1 /OR
AT AT SAETAT & TG FHTILO A THATET |

Explain the main causes of Civil Disobedience Movement.

22 TSI & o STHE FHTAT HT J AT |
Describe the main functions of a political party.
3{YdT /OR
TSI IA1 6 THE FAT FAA9T § ? THATT |

What are the challenges before political parties? Explain

03

03

04

04

23 AT & "= § fwferfea #r 2oz - (1x4=4)

(i) TreersT (ii) =T
(i) Frar (iv) fETarety
Show the following in the map of India -
(i) Raniganj (ii) Jharia
(iii) Korba (iv) Singaroli

7974 /OR

aTed & gt § Mo v gerizo -
(i) HVJ i O AT (ii) g BTe
(i) weTSTEE (iii)) Ta=T

Show the following in the map of India -

(i) HVJ gas pipeline (ii) Mumbai High
(iii) Malajkhand (iv) Khetadi
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